Trigonometric Identity: An equation involving trigonometric functions that that is true for all values
for which every expression in the equation is defined.
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Prihagorean Mentities

cos? G+ sing=1 tanf 0+ 1=sec g

cot? 64+ 1 =csc? @

Gofunclion identities

sin (3 — 6) = cos 6

cos {%m £§) = sin ¢
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Negative Angle Identities

; gin (=61 = ~gin # 08 (=8 =cos &

tan (—6) = ~fan &

Trigonometric Identities can be used to find exact values of trigonometric functions.

Objective 1: The student will be able to find the values of the other five trigonometric functions of § .

Example: Follow the steps below:

1.

2.

Write the Pythagorean Identity:

Substitute the value infor §:
Simplify:
Take the square root of each side:

Because 8 is in the 4th Quadrant, sec § is positive!

Now that you know tan 8 and sec $, you can find the other four:
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1-6: Find the other 5 trigonometric values using the given value.

. 1
sinS=—, ~<J«<n
2

=, F OB

- % ir -
Sin 6+ cos’e = | 2 =
pste=| c. ééié?ﬁ;%%é@ ?)
AR IO = 4
Joosi'e =g AR~

{ d. escp=
} Zoa *z}
Cx 6 =NZ(Q

S

4. 384:8216-),3/\*8«(7! %
5 2

g% 5. csc9=—2, 3 g LGl Cose=(&) 6. cot§=-_
e 3.2 p i;‘é;/ 2
3. sinG=-2) ¢ 5‘%@%%% 3. 4am @ =(Z
2 e L [+ 4=5ec
A feas® = | d.Amnd= -z - £3) Y es seto =
&) 1o Ll g i’%’z 5= S )
{j{}g %:“M T ”%‘?ﬁw — I .
5 P =I5 = S Lo
i6=22L  eeato- (%) a3: b.seco =(-Is, =(-55)

Objective 2: The student will be able to simplify a trigonometric expression.

cse(-x) - ese(-x)cos?x

Example: follow the steps below: Given:
1. Factor out csc{-x): csc(-x)(1- cos?x)
2. Pythagorean identity: csc(-x)(sin?x)
3. Reciprocal Identity: - e sin’ x
sin{—x)
4. Negative Angle Identity: (sin(-x) = -sinx) e @ 5in X
sinx
5. Simplify: -sinx
7-12: Simplify each trigonometric expression compietely.
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